. SM 86.3.18 M 35

Phase resistance 1,1 Chm

©

g Phass inductanca smk

= | Phase current A

g unipolar 35A

'g Phase current A

& | pipotar SA
Isolation class F F
Step angle 18° £3%
Holding torque 45 Nm
Detend torqua 0,08 Neme
Max.1,6°

'g Start frequency 1z

O yax.1.6°

S Operating frequency |7 kHz

E Rotor inertia. 1,95 kgom®

8 Bearing

= | thrustioad 10N
Bearing
overhang load 280N
Waight _ 365ky
Max. operating o
temperature 10°C

measured with:
typical values .

SE 800.08.60
________ SE 800.06.120

—
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Picture 1 Maximum operating torque
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Picture 3 Max. current consumption ( from power-supply )
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. Picture 1 Maximum operating torque

" SM 86.3.18 M 6 - (Nm]— :
. .4 "i't
Phase resistance | 0,43 Ohm o i N
I T "~ : .
g Phase inductance 17mH 3 - P
] - ud
@ | Phase current A. : ' N e
.g unipalar GA : 2 ™
s
| Phase currant A - ~
‘| bipotar 84A ok U=120VDC
1 - [ ~ | =84 APh
lsolation class F F -
U=g0 VDG
Step angle 18° £3% | =84 APh
o 4 8 12 16 20 24 28 [kHz] 600 stepirev.
Holding torque 45Nm 0o 2 4 8 8 10 12 14 [k'-fz;1 400 step/rev.
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Detend torque 0,08 Nm [ms] Picture 2 Acceleration { with ext. ratio J e, }
« | Max1,8° . Just =38 kgem?
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S a1 f | ZI ] don= 185 kgom?
'S Opefatlng f‘-‘qu.nw 10 kHz 60 ] Jaxt = 3,8 kgcmﬂ
- - rd
= "
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-§ 9 : /" ’,// Jut= 1,95 kagn‘
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= | theust load 190N ,7 » /; 2
Bearing < 4 Jex=0kgom
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. Picture 3 Max. current consumption { from power-supply }
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Picture 4 Max. start - stop - torque ( with ext. ratio J e, )
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" SM 86.3.18

................. without boost

M7
Phasa resistance - 0330hm -
§ Phase inductance . 1mH
W | Phase current A
?§ unipolar o TA
% Phase current A 104"
Isolation class F F
Step angle 18° 3%
] Holding torque 4,5 Nm
Detend torque 008 Nm
- Tmexa 8° T :
3 | Start frequency khe
o 0o 3
— ]Max.18 .
18 | Operating trequency |12kt
-E " .
E | Rotor Insrtia 1,85 kgon®
2 -an .
12 | thrustload 180N
averhang losd 20N
Weight 365kg
| P
:maasurod with:
_ typical values
SE 800,12.60
—_———————— SE 800.12.120

Picture 1 Maximum operating torque
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Pleture 2 Acceleration (with ext. ratio J e )
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Picture 3 Max. current consumption (from power-supply )
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- Picture 4 Max. start - stop - torque ( with ext. ratio J . )
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